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G5-ME-lesson 4

1. Each rectangular prism is built from centimeter cubes. State the dimensions, and find the volume.

~
a. ;
p — The height of the
rectangular prism is 3 cm.
y Length: 5 om
\ Width: Z _com
The width of the
o Height: 3 em
rectangular prism is 2 cm. Tm———
- Volume: 3¢ cm3
The length of the
rectangular prismis 5 cm. Volume is equal to length times
' width times height. | can
multiply 5 cm by 2 cm by 3 cm,
which is 30 cm®.
The length of the
rectangular prismis 4 cm.
b. A _ length: 4  em
y The height of the N
rectangular prism is 3 cm. Width: 2 cm
{ Height: _ 3  c¢m
T Volume: _24  ¢m?

The width of the
rectangular prism is 2 cm. Volume = I X w X A. fcan
multiply 4cm by 2 cm by

3 ¢m, which is 24 cm?®.

2. Write a multiplication sentence that you could use to calculate the volume for each rectangular prism in
Problem 1. {nclude the units in your sentences.,

a GBemxZemx3com=30om® b, 4emx2omx3em=24cm®
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3. Calculate the volume of each rectangular prism.

Include the units in your number sentences.

$ The height of the
rectangular prism is
7 meters. V= 4mx3mxT7m=84m°
7m
I multiply the 3 dimensions together to
4 find the volume.
y
/; - The width of the
4m rectangular prism
is 3 meters,

The length of the rectangular
prism is 4 meters.

4. Meilin is constructing a box in the shape of a rectangular prism to store her small toys. It has a length of
10 inches, a width of 5 inches, and a height of 7 inches. What is the volume of the hox?

The rectangular prism measures
10 inches by 5 inches by 7 inches,

7in
I draw a rectangular prism and label the length as
/g in 10 inches, width as 5 inches, and height as 7 inches.

Volume = length x width x height

&
k4

1Gin

V=10inx5in % 7in = 350 in®

The volume of the box is 350 cubic inches.
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